20255t St ME 1% 7R 08 =5

No. EMY XXt S EAL 2= 7H4

1 [EZ2 1 gz HWE zas4| 1 | % 20,000 | #
2 [BZE2 gafz| HE zasy 1 | % 20,000 | #
3 |+ 8le HIE2[oF Y 23 cOpH 1 | % 22,000 | #
4 |[SMEFEXRL Yot nksk| FEuEMEHE | 1 | % 15000 | #
5 |=7t2 2 M&E of 24 1 | % 33,000 | #
6 |ZIZXtol A Hqee F=2 M 1| 1T | % 18,000 | #
7 |MEEHZ =5 OIS A 1 | % 13,000 | #
8 |MA &g o Ofo| 2 F0[|A CH =2 T | % 24,000 | #
9 (XX OiztE <ot §H0 2 XA ot ALY Y= 1T | % 19,000 | ¥
10 [0{™ O|& FAENRe: AHAIE 1T | % 18,000 | #
11 |dMA w2 stete HBA} 1 | % 27,800 | #
12 |20 Mot =ata4| 1T | % 17,000 | #
13 |+ =4 At B2 = =X ApdEHE XA 1 | % 25,000 | #
14 |EHO{7F 22 MA 2 2ol 7t 1T | % 18,000 | #
15 |AtI[QllA w2 stete HBA} 1 | % 26,800 | #
16 |H QI7HEQl A= E0r2 & EH < 00| X|Z2|OFRHK 1 | % 30,000 | #
17 |20|X| %= = &XtE Ol&& zas4| 1 | % 17,000 | #
18 =7t 23 917|9] MELAEN s A et QEY UMY Ul B FHSI 2 ETAL 1T | % 18,000 | #
19 |2 20| =4t CHM2 off MR =717 OFORCt OFALS| 2 H| O] OH M| 1T | % 12,000 | #
20 |2+ Za, FOf T et M= 21M7| =2 1 | % 22,000 | %
21 |22 ALEHO| AFEHEICH O| & 3| =EHo A 1 | % 20,000 | #
22 |QI7et EXto| Oj2f = ut BER of =l o] | of T | % 19,000 | #




23 |S2A1E] Hjotil= YJUE & A5 T | % 17,800 | % 17,800
24 |0|2HE =H|ot= =&/ of ¢ O A JEF YA T | ¥ 19,000 | % 19,000
25 2177t 20 T2 fldE S8 =H=E T | ¥ 16,000 | ¥ 16,000
26 A=F2 Ale|, HIF A EN K| 2 B T | % 15000 | % 15,000
27 |2H2ot =M Ol7=Zd&d 00X 4 of 1T | ¥ 15000 | # 15,000
28 |[2A2, =x= M dME =ots4 T | ¥ 16,800 | ¥ 16,800
29 |27l &8s dol= =tk T | % 12,000 | % 12,000
30 21M7] At= () E0r T A E| =20t T | ¥ 33,000 | % 33,000
31 |21k 7k2 27t & | T | % 17,000 | % 17,000
32 |F 22t BHE O10| S 1 HEF E=2= g S T | ¥ 28,000 | ¥ 28,000
33 |7 22 CHE o0l = 2 HER SEE e 1 | ¥ 28,000 | # 28,000
34 |82 Atz|atet HE=2 RE9F T | % 17,000 | % 17,000
35 |%! = EfH|O} B S HI Y 1 | ¥ 18,000 | # 18,000
36 |22 1 2% EEH = T | ¥ 20,000 | ¥ 20,000
37 |4¢g| 2 25 B2 = 1 | ¥ 20,000 | # 20,000
38 |=&o 2= A N2l = T | % 17,000 | % 17,000
39 [4=0|H &t 0|25 F7 1 | ¥ 18,000 | # 18,000
40 (0|ojElo| & e T | ¥ 22,000 | % 22,000
41 |7|Al= A stEst7h Of2 OftEfA 24| U 1 | ¥ 25000 | # 25,000
42 |4 Z| R H 1T | ¥ 18,000 | ¥ 18,000
43 | A EC CHEfeh EOHE ape g2z T | % 12,000 | % 12,000
44 |[AFRLF G npape =ots4 1T | % 12,000 | % 12,000
45 |=7ts9 % UHA SIUMEZED HJFE= T | ¥ 22,000 | % 22,000
46 |1 =2 k|utst HiH 2 @ 32 Hl & 2AATHHIX| T | ¥ 19,900 | % 19,900
47 |3|T IZEX AT WY ISR FATISEHETA 1 | ¥ 34,000 | # 34,000
48 |9 TTE= AME 42 2 1E8 1T | ¥ 18,500 | % 18,500




49 (39| OtX| otot =ata4| 1 | % 16,800 | ¥ 16,800
50 (2ol Ojey MEA Qto| = 1T | % 22,000 | % 22,000
51 [MHE=E HEA HEE =5 FAPSE:S EBS BOOKS 1 | % 16,000 | ¥ 16,000
52 |& OHE @It A A FAPSE:S CHE 1 | % 14,800 | # 14,800
53 |=7t= O|% A RHX|=7t oy HA 2+ 3l 1T | % 23800 | % 23,800
54 |(EC|0| BtLtE X[2[et =Y o=l s PP T | % 19,900 | # 19,900
55 |AtSl Sl= EHO{&= QiCt 2olg dejzg 1T | % 22000 | % 22,000
56 |Z=2 R0 2ot TS 0[]0k M=zl 24 Of (& A 1T | % 19,800 | # 19,800
57 |0l= ¥O| O|= =210 CHSH 4ot Atgtin 1 | % 20,000 | % 20,000
58 |BX| d&2 ofEA BEE ZE R 5|Y A B ADAERLEZNEA 1 | % 22,000 | % 22,000
59 [H2 oA d25t=7t YE HEYA =0tz 1T | % 33,000 | % 33,000
60 [dads 2o {2 EX[e Hf Qo HOETHAL 1 16,000 | ¥ 16,000
61 |AXLOLX 20|= M A X| 2| O| £t3 HEA 1 | % 16,800 | # 16,800
62 |0{0rO{OSH X| 7ot O|ER Cloj| 22 EZI3LH 1 | % 17,800 | ¥ 17,800
63 |F2l= X020 ALCt: Argh-X| 2t MIA AR EIAH 1 | % 17,800 | # 17,800
64 21A7| E2|X| YA =SEZ[A 1 | % 18,000 | ¥ 18,000
65 QAL LIE X|7|= =52 Xlo|H 1 | % 22,000 | % 22,000
66 [SF7t Qo £& 222X 2&CHH? o|zigl M= 1 | % 14,000 | ¥ 14,000
67 |7|Y3CH= &2 Kpet 2t dEA 1 | % 22,000 | % 22,000
68 [ Tl MEto R HZAS CIXIRIstE YA ol2g EdA 1 | % 15,000 | # 15,000
69 |ZME TSN LY S FH|Ste 7| AH xlofz| Edh 1 | % 15,000 | ¥ 15,000
70 (S22 E MYE FEE= 89 X[ 5] Edn 1 | % 15,000 | ¥ 15,000
71 |HEXE ENHA| FES] S A aMz Eda 1 | % 15,000 | # 15,000
72 |HZ] ST O| TIHZ 85| = KCSI ateha=Atat =28 Edn 1 | % 15,000 | ¥ 15,000
73 [T MA Sl ME 22|TE S0jUe AT AY STHHATL  |O[MT Edh 1 | % 15,000 | ¥ 15,000
74 [OELCHZ O|AE THE = X|0FO|A HZ0ot Edn 1 | % 15,000 | ¥ 15,000
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101 [Bt2rel 227t 53 Uz opo|Cjojg A 1 | # 163800 | % 16,800
102 M0 M 2 Efbj 2 510|2t7| AfLtZt =g 1 | # 16800 | % 16,800
103 S 40N 2Lte cUE] | 1 | # 17,000 | % 17,000
104 oM CH N A 23 x| 0| HY2E 1 | # 19,800 | % 19,800
105|=2to|2 Haj ol B(AE) 1 | # 13000 | % 13,000
106|417t Yo HHo B F20] g M 1 | # 14,000 | % 14,000
107 B4 EAlQ] S xyet )2 g5 2l Hulus 1 | # 18000 | % 18,000
108 | EIZHl Lto| MOl QUCt OF2[OF OHFA|Z| Lt 25 1 | ¥ 19800 | # 19,800
109323 24 o) FEAIM e Ll 1 | # 18000 | % 18,000
110 AFAE 2|2 At MAY XS £20 A |FHLEEEA 1 | # 15500 | % 15500
111 =71=2 = AHA StEHEREL HFES 1 | ¥ 22000 | #% 22,000
112|222t (It S8 2HE sfala ool X|A2|OKRHE 1 | % 22,000 | % 22,000

# 2,217,800
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